50 SENIOR ADVENTURE 2004 <2004><EU><6001D2>
IGNITION SYSTEM

@ MINI ADV.
LOCTITE 243 /
7))
4 /’0‘
¢
SENIOR ADV.
Pos Part Number Description Additional Text Quantity

4 45139004000 FLYWHEEL STATOR 50CCM LC 2001 1.00
5* 45139005100 FLYWEEL ROTOR 50 2004 1.00
6 45139006000 IGNITION COIL 50CCM LC 2001 1.00
7 0015060123 HH COLLAR SCREW M 6X12 WS=8 2.00
9 54331093410 SPARK PLUG NGK BR8ECM SX 1.00
10 54531010000 SPARK PLUG CAP LBO5EMH N 1.00
12 0912050253 AH SCREW DIN0912-M 5X25 2.00
28 58414030000 HH COLLAR NUT M10X1,25 WS=13 MINI ADV. 1.00
29 45130028000 SPECIAL NUT M10X1,25X6 1.00
30 45132020000 WASHER 10,4X16,8X0,4 1.00

* = New part

1442



